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m ha

A 05 14
B 51 5.1
C 16.8 9.0
D 47 7.1
E 5.8 8.1
F 9.1 3.1
G 25.2 21.6
H 6.5 9.0
I 15.6 23.2
J 10.2 12.7
K 3.7 104
L 31 6.4
M 8.6 3.0
N 37.3 19.5
o 44.0 275
P 87.6 68.1
Q 32.1 115
R 15.6 25.3
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S47.7 S54.7 H5.8 H7.7 H8.7 H16.8 H17.9 H18.7 H20.6
o 12




00

HW.L.




00

40 61 -12 5 -6 6 74 (308) 20 -14
46 93 -43 1 63 6 (243) 1 2
47 166 -115 0 265  -195 (53) -1 0
54 156 -105 3 -2 221 -156 (94) 9 -5
57 7 25 87  -38 2 40 25 (265) 6 9

: 5 111  -61 -1 -190  -58 (123) -1 3
7 93 -44 2 ~99  -31(209) 2 3
8 165 -114 0 260 -179 (58) 0 1
16 170 -119 -1 -2 253 -193 (64) -4 -3
17 113 -63 -1 171 -83 (141) 4 -1
18 97  -48 -3 138 -36 (172) -13 -8
20 -88 -39 4 110 -11 (198) 10 14
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(@]
(@]
40 61 -12 _12 6 74 (308) -39 -30
46 -93  -43 0 63 6 (243) 1 2
47 166  -115 -9 -8 265  -195 (53) 23 -18
54 156  -105 6 -5 221  -156 (94) -18 -13
57 7 25 -87  -38 0 ~40 25 (265) 2 4
; 5 ~111  -61 -10 -9 ~190  -58 (123) 21 -10
7 93 -44 -6 ~99  -31 (209) -14 -8
8 165 -114 -3 -260  -179 (58) -10 -6
16 -170  -119 5 -6 253 -193 (64) 11 -7
17 -113  -63 -5 171 -83 (141) -12 -1
18 97  -48 -9 138 -36 (172) 26 -20
20 -88 -39 2 ~110  -11 (198) 11 -6
[ cml
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